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implicitplot2d()

Draghilev's method

F(X) = |(x y)«(Xo X1)

2 2
X +y -8
[sin(x-y)-sin(exp(x'}’))]

D(t,x) := Draghilev(F(x))—>

Given F(stack(x,y))p =0 GetX0(x,y) := Find(x,y)

X0 = GetX0(2,-0.5) tmin = 0 tmax := 15 N = 3500 ii=0.N-1

result := rkfixed(stack(X0,1,X0),tmin,tmax,N,D)

T:= result<0> X = result<1> Y = result<2> V= result<3>
|
Roots(res) = L(res)
2
()

V <—res

nv « Search(v)

for i1€0..length(nv) — 1
for jel.n-1

ot jj—1 Interpoﬂres(jp) (nvii)” (res<jj>)(“Vii+ 1) Y (nvii) ¥ (nviit1 )—‘

out

roots := Roots (result) rows(roots) = 82

T 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14
roots =19 p.545[1.235(-1075p.409P.669F0.8310.951.0481.133[1.2091.234[1.278[1.342(1.404[ .464
1 1.235pR.545P.828R.799p.748P.704P.664PR.627P.592P.557P.545P.5232.49p.455
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Curve := (X Y V)T

Plane(x,y) := 0 CurveProj := (X Y V-O)T
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xmin := -4  ymin := -4
Xmax ymax
coords :=
Xmin ymin

(nx ny) := (30 30)

f(x,y) = F(stack(x,y))0

(nx ny) = (200 200)

f(x,y) = F(stack(x,y))1

xmax = 4

grids := (nx ny)T

grids := (nx ny)T

S1 := implicitplot2d (f, coords , grids)

S2 := implicitplot2d (f, coords , grids)
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